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EHel: HASE A=2=0 NY(SE)(A=2S0HIISEL3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==X 423,449 418,093 5,356
= 41,029
< 21,256
s 361,164
NAsEZE &9 & g4 &2 359,561 372,490 A 12,929
= 14,363
< 14,590
[ia 330,608
HASE d2=50 NY(SL)(A2SHIISELIAH) 359,561 372,490 N 12,929
= 14,363
< 14,590
[ia 330,608
22g 2el BE 326,608 285,582 41,026
308 XtXIEHH SOl A 326,608 285,582 41,026
07 IXNSHH UL S 326,608 285,582 41,026
O 92280 Al=ZH 2 326,608
SES0 ALY &E 2| 11,000 11,000 0
< 11,000
201 Let24d] 5,600 5,600 0
< 5,600
01 At 22l 5,600 5,600 0
O=2Hl % 2g=¢ 5,600
= 5,600
202 oddl 5,000 5,000 0
< 5,000
01 = LH o4 1 5,000 5,000 0
O=&0tl 5,000
< 5,000
301 et a3z 400 400 0
= 400
1MIIEELSS 400 400 0
SEHD ADENS 400
< 400
S=sWAY 12,971 49,143 A 36,172
= 10,377
< 2,594
301 et d = 10,200 48,143 A 37,943
= 8,160
< 2,040
01 MEIE2EZE+05l= 10,200 48,143 A 37,943
O&FMeI2dx 2 6,500
= 5,200
= 1,300
OL el 3,000
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AN =S
g MNASS &9 2 g8 &2
@l MASSE A220 N (SE)(A=220II=SE8AH) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,400
< 600
O =LA ZH 500
= 400
= 100
OASSHUHAX L3H HX=S= 200
= 160
< 40
307 glz2tol & 2,771 1,000 1,771
= 2,217
= 554
01 2222l 2,771 1,000 1,771
Oo=rd &=3 2,771
= 2,217
< 554
AL MER | 4,982 26,765 A21,783
= 3,986
< 996
301 et a = 4,982 26,765 A21,783
= 3,986
< 996
(AR S = = 4,982 26,765 A21,783
OAdd &z H| 4,982
= 3,986
< 996
ol el gl 4,000 0 4,000
801 oIl 4,000 0 4,000
01 Zetoildl gl 4,000 0 4,000
Ooldl gl 4,000
Heegs(=e=xn) 23,556 7,730 15,826
BENE(AE2S0HISEESAH) 23,556 7,730 15,826
E2Xx3 ere 23,556 7,730 15,826
802 Eret 3 J| EF 23,556 7,730 15,826
02 Al - EHIEXGEtE = 23,556 7,730 15,826
O&HIEx3 gte =z 23,556
HH2HZH (FUSK) 40,332 37,873 2,459
= 26,666
< 6,666
s 7,000
AHARIH(AZSHIISSESAH) 40,332 37,873 2,459
= 26,666
= 6,666
s 7,000
SE=0ael AE2L(XA) 7,000 6,500 500
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HE: HY2IFH (FUSN D)
el lHE2HH (A= S0HISSESA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 7,000 6,500 500
03 RIAHAZ 22+ 7,000 6,500 500
O A2 SH2elAr BE SO, HIt2aHH], THEl
23Hl tExE S 7,000
SE=0ae AE2I(EX) 33,332 31,373 1,959
= 26,666
< 6,666
101 @14 Hl 33,332 31,373 1,959
= 26,666
< 6,666
03 RIAHAZZ T E =+ 33,332 31,373 1,959
O ga&elAL el 33,332
= 26,666
< 6,666
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